Branch & bound method

1. Use the branch & bound method for solving the integer linear programming problem


Max 
4x1 + 5x2


St
2x1 + 6x2 ≤ 2100



6x1 + 5x2 ≤ 2100



x1(Z+, x2(Z+
2. Use the branch & bound method for solving the 0-1 linear programming problem


Max 
40x1 + 60x2 +60x3 +10x4 + 20x5

St 
40x1 + 50x2 +30x3 +10x4 + 40x5 ≤ 100



xj({0, 1}, j=1..7

Non-linear programming

Find points x1 and x2 of minimising sequence in E2 for function:

f(x)= 
[image: image1.wmf]x

x

x

x

2

1

2

2

2

1

4

8

+

-

+


with starting point x0 = 
[image: image2.wmf]ú
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. Solve the problem with the gradient method with maximal decrease.
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